Al = 0l & AFE B Al A

20248 =0la LS 2IB|AIR=

SA: FARR
M N3 2% XA(ULSTHE/AYL L ZL])
cel: gelllsly EE (CHo: X 2l)
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
PEREES] 1,968,470 1,877,805 90,665
Xgolsl 2% X (LB /LML I 2e)) 1,501,515 1,490,588 10,927
EREEPOESE 247,510 241,177 6,333
oFsE &2 Y3t 159,120 161,000 1,880
201 LBH29Y| 59,120 161,000 A101,880
01 AF2 22| 59,120 161,000 A101,880
Ood¥ya=s 2&E21 800,000 %12 9,600
OEEX 7Y 5002 *2, 0000H 1,000
O=& M= 40021%5,0000H 2,000
OZ010H M= 2,0002*5000H 1,000
O2sgE(22)E M
10,00024*1,00074 10,000
OS2HL(HE) M
250,0002x4% 1,000
O2zlgsas 82 1,200,000/ +63] 7,200
O2AFAAIX M= 6,000,00024+23] 12,000
Oy KRB BRI M
100,0002 %403 4,000
OAFRI - g4t BE ATEZN 2L
110,000 * 1= 12042 1,320
OQdEEZA HIZ 10,000,000 %1 A! 10,000
308 XHXISHHISOI& 100,000 100,000
13 2T 2SI CHEIZ A E A ETAFIH] 100,000 0 100,000
O2A™E 2| 2,000,000%503] 100,000
A1 BGHE 25 P8 88,390 80,177 8,213
201 LBH29H| 85,510 76,335 9,175
01 AF22t2IH| 65,510 23,33 42,175
O30/ 2|8 2
193, 60024+ 100A1 2+ 19,360
031912 0 S M 8,750
- E 35,00024%2501%23] 1,750
—SAIE 35,0002 %250 +83 7,000
OSIAIRIEH BZETY HAERT 2
150, 0002 x4 K 600
Ol peael 100, 0002 *24TH*20% 480
OHAHOIS| NAl 29 1,600
—HAE0l5 Al B0t HIE
60,0002%103] 600
—HAE0l3NA 2¥ 2E £ 7Y
100,000 %103 1,000
O2I3|ZH0IXI KX
1,060,00024% 12742 12,720
Ozlo] Fa|=2 220! OHAl HIAl
2,200,0002*103] 22,000
03 ALY 20,000 20,000 0




SN0 QBlARR
Hu: Xgols 29 XR(LHBIHY/AYUAHBL))

ohelr Helolgla e (Crel: & 2l)
SN B SL(3) - MBAY - BaS Ofl b e MimE=T!
Oa 25| F2 2H3| L MIOILE K
20,000,0002* 14! 20,000
301 YB3 2,880 3,842 NOB2
11 BAFAHIXIRZ2 1,680 2,642 NOB2
OFAHOF DA ZHAT} AAL HIZ S
8,000 142 x153] 1,680
14 JIEtE A2 1,200 1,200 0
OatARIA3| U SHANF| 2I2t0l HAIT}
AlY| At 80,0002 *524*33) 1,200
ESIFSEEESS 1,254,005 1,249,411 4,5%
EEEERE! 976,489 959,987 16,502
201 L2 A 57,470 41,090 16,380
01 AF222IHI 57,470 41,090 16,380
O=gl eS| 730,000 %20 *23] 29,200
OXlgol3| AT A NS
200,0002%10% 2,000
OZP2AA AIAIRIRE| EAlag
00,0002 x5 %43 2,000
OoFH2Y DATN 2o
20,0002/ *200A 4,000
RER== 20,000 +30 8+ 122 7,200
OB ELEX =5 4,590
—XXIA 5,0002%202 %122 1,200
R AED N 6,0002+20 5+ 122 1,440
o ONEIES 5,000 %202 * 122 1,200
—JIEt 150, 0002455 750
OQIAIRI S| BAatzct
100,000 *6 253 3,000
OSeIAAIE2 3] 4,400
—&8xd 100,000 x5 43 2,000
— &40 120,0002 52 *4 3] 2,400
O|&E 5| BIOHB QI
6,000 *305+63] 1,080
202 Ot 46,000 36,000 10,000
04 =2KI5H01H| 46,000 36,000 10,000
QAZNHTAl &2 L NG 48
2,000,000 2 *43] 16,000
OJIZXLOE XS FH2AHAL
3,000,000 %4 H 13 12,000
OZAZCAIZOI5| Q&E oI5| GHQlets 48
3,000,0002*5% 15,000
OZESLAZOIE| QXI5 Aoty 8
3,000,0002* 1% 3,000
205 ©|3IH| 862,519 873,897 A11,378
01 X E=H| 184,800 184,800 0




SA: OBIARR
o XYols 2Y XV (LBBIUH/YYLEIIBL)

oel 2iE A3 Ooawx; (Crol:®l)
SN - FE - SRI(E) - KIRAY - BES il st e HIRE2
OEESEE] 184,800
— Q™24 AR
900,000 * 142122 151,200
—BXE=H| 200,0002* 14 * 128 33,600
02 XL 327,879 325,116 2,763
Og¥=+< 1,951,660 %1412 327,879
03 2I2A=LHOHI 30,240 45,360 A15,120
022 MIOIL}, o & SIFFA 0
90,0002 % 142x22x 122 30,240
04 2I2A=2/01H| 49,350 42,350 7,000
O2II2AI8AL, 2B, XOHZE
7,350,000 % 14! 7,350
OYFAIQE| QAR S 2R=Q¢i
3,000,0002%142%13] 42,000
05 QN 2IBSAY| 74,241 78,400 A4, 159
Oy 2HBSAH
400, 2402 x 142122 67,241
OSg232 1,000,000 +7 7,000
06 25| @Y AR 67,560 67,560 0
02l 2,100,000 * 1 *12& 25,200
o= 1,000,000+ 1122 12,000
O AE 660,000 *3%H 12 23,760
OSEAAT (0B A, 22I)
660,000 *x2H*53] 6,600
07 QAN LH|(SBE, HHLS) 8,400 8,400 0
OS2 A n=H| 200,000 % 142%33) 8,400
08 2l RAA2EIHLHH| (DI2HR(E) 15,400 20,440 15,040
OS2l fI& =] 550,000 %14 %23 15,400
09 2|2 FZHIH L] 70,000 70,000 0
OQAFTINLH(FHMAR, ER3| 5)
5,000,0002*14% 70,000
10 S& SO HREZ 13,500 10,500 3,000
OF2 AIZ93| Q&SN 22
13,500,0002* 13 13,500
BRI == 7,378 7.316 62
092 20z 22
1,951,6602%72*4 5 122 7,378
12 oAF0IHALHZ 13,771 13,655 116
092 201AY 22
1,951,660+ 14 %4 %x 12 13,771
301 YEHEAS 6,000 6,000
09 QIBIEH 0| 6,000 6,000 0
OXIHEAl 2 2HLBTAl QB EH0H
1,500,0009 *424*13] 6,000
405 THAHE SH 4,500 3,000 1,500




SA: OBIARR
o XYols 2Y XV (LBBIUH/YYLEIIBL)

Stk g - (Cto: M)
SA - EHH . E(BH) - HRAY - BES Ol &k e HIDS2
02 EATYH 4,500 3,000 1,500
OoF2Y M2TA 7Y
30,0002 % 150A 4,500
LHAIQlE o2 270,516 279,424 8,908
101 Q124H] 47 172 46,024 1,148
M JIZH2R2ISES 47,172 46,024 1,148
03129 2 3lo=as BX JI2H 22X At
47 172
—o1=Y 78,880 21+ %2402 37,863
—F54g 78,8802+ <487 7,573
—E X 78,8802+ x 112l 1,736
201 L2 A 142,444 159,300 A 16,856
01 AFR22IHI 98,620 81,790 16,830
OQHBERZ R0
15,0004 *20 2+ 105 3,000
O2lot ol 20,0002/ *332+103] 6,600
Osl=at HI= 60,00024%105 600
OAUZE AHFZA A4 g0
30,00024x20% 600
O=3]0|Z U ORAAIRAl gtA S AIEt]
2,500 400K 1,000
O3 & AAE, 23 S =HIBRE
800, 00024103 8,000
OF0l J|2cHH 28| 29 22 ¢
300,000 %123 3,600
OFAL BRT2I2E 1
6,0002%105+303] 1,800
OFAL 8 HH 2,500,0002*13] 2,500
OoENE S8 2lAR
2,000,0002*2 4,000
O3JI1E&I| 2 Al 120, 000 *24} 2,880
Oo&al 2 23|91% 9/57| S A
350,000 x2&+20H 1,400
OFAF HiBA 24 12,000,000 * 14! 12,000
OANAZ FI|otE &FY
5,500,0002 %23 11,000
OFI| HEBA 242
150,000 %123 1,800
OAl OHHAA $48
70,0002 %123 3,240
093] 22 U A2 AZI| & M= =X
1,300,000 % 14! 1,300
OYHEEH| SXIE2
2,000,0002* 1272 24,000
OFAL M 89 400,000 %123] 4,800
O9tH 3HE| o3 Ses, HIf S M
4,500,000 %14l 4,500




2A:

O AIR=

HE: XYols 2 X (LEIIHN/LHUSHL)
Stk g (Cto: M)
SN B SL(3) - MBAY - BaS Ofl b e RS2
02 2229 43,824 77,510 133,686
OR2Z)|, AUz AR
1,300 8 A 2H+ 1202 *8LH 9,984
OR2Z)|, 442 ||
200, 0002 +6CH 1,200
OWLE)| 2K 7,000
—dHII|(HEE) NEAZ S
200,00024+30CH 6,000
— LD |(AEHES) SR/
200, 00024 %5CH 1,000
O=22, 3195 ALK
200,0002%53] 1,000
OAERXIHI 5,540
—=22H(E2 104 0l4)
2,5002%1, 182 2,955
—3|9S(E2 104 0l4)
2,5002%1,034m 2,585
OXtR Xl 17,000
—350H13675(S2, AMTE, Ro5eR)
7,000,0002*1CH 7,000
—28212343(52, Y22, 3R
5,000,000 1CH 5,000
—T1Z=7T203(EESE, A2, IR)
5,000,000 *1CH 5,000
Of:|[ERES= 30,0002 * 1074 %43 1,200
OFHA &5 180,000&%53] 900
203 2EZIH| 18,900 18,900 0
RPNEESSIEEESNE 18,900 18,900
O2I3IAIR= FAUP =X
8,100,000 * 14! 8,100
O2dA2E g2f =& 6,300,000 %14l 6,300
O2JQtalAl & Al 5| 29
4,500,000 %14l 4,500
401 AlEHI L2 0HH 50,000 50,000 0
01 Al&H] 50,000 50,000
O2J3|IM2 AIETH 2 LRSS
20,000,000 * 14! 20,000
09322 AL SXE
30,000,0002* 14! 30,000
405 THAHE SH 12,000 5,200 6,800
01 AU SEFSY| 12,000 5,200 6,800
O2l3| A3|olal S&AH|l wHl
12,000,000 * 14! 12,000
ZAO|HH O3 X2 7,000 10,000 A3,000
201 L2 A 7,000 10,000 A3,000
03 BAFS | 7,000 10,000 A3,000




SA: OBIARR
Hu: Xwols] 29 X2 (LS DTHE/ e M)

Stk g - (Cto: M)
S - ZE - BRIEH) - MIRAIR - B e e inE=gt
OBNET 22X AZo3|2FEH 5] M
7,000,0002%13] 7,000
A 2AZH|(CIGIAIR=2) OIEHJIED 466,955 387,217 79.738
RIEEXSE] 237,179 204,739 32,440
RIEEXE] 237,179 204,739 32,440
101 Q124H| 237,179 204,739 32,440
01 B2 150,770 122,876 27,894
O9JFIAIRZ Al 150,770
-t 11,31924x25 %38 A1 2H+ 122 129,087
—OIF HEHIN Y 2FA
11,31921%2% 80 Al 2H+ 12 21,733
03 BRE(RI|HL)22XE 2 86,409 81,863 4,546
OSBRI 39,112
-JlE2 2,176,210 % 1%* 12 26,115
—SEFHI 2,176,21024%25]x75% 3,265
—d2=e 2,176, 21024 %30%+ 1 2 1,306
—IIELY(HMAA)
30,0002* 1128 360
—A2H22ReE
13,2962 150%* 15A 2bx 12 122 3,590
—ARRSEIILY
106,368 x1Hx 15 1,5%
—HHFAH| 140,000 %1 H* 122 1,680
—nEEXH| 100,000 *1H* 128 1,200
OtlM e 47,297
—Jl=2 2,595,430+ 18122 31,146
—HE S| 2,595,430 %23|%75% 3,894
—XDsg 2,595, 4302 #5001 %23] 2,5%
—IIESY(2,2) 20,000 %2 X x 122 480
—AZII2R4Et
16, 15324 150%* 15A1 2bx 12 122 4,362
—ARRSEIILY
129,224 24x1Hx 15 1,939
—HHFAH| 140,000 %1 H* 122 1,680
—NESXH| 100,000 * 124122 1,200
J|=2ZH| 229,776 182,478 47,298
J1=ZH| 229,776 182,478 47,298
201 LEH2 A 100,596 74,858 25,738
01 AF222IH 43,056 33,158 9,898
OSAEX 7 20,0002 #0288 Ax 122 6,720
OSZ20HAL| 8,000 +7A %08 %« 122 18,816
Otz 100,000 * 12 1,200
OARE TATLH| 50,0002 %122 600
OARD 24| 12,360




2M: 25| AR=2
MM HYHSARH|(ASAIRR)(DIEHIIEH
&e: J|E238h| (cHol: M)
SA - EHH . E(BH) - HRAY - BES Ol &k e HIDS2
—SAD(HE) el 1,000,0002*3CH 3,000
—IRIED| %2l 100, 00024 «4CH*50% 200
—=2AM] EY 200,000 53] «3CH 3,000
—ZRIE(EY) EY
200, 0002 %53 x4CH 4,000
—TEIE(2Y) EY
200,000 %53 1CH 1,000
—PC =2l 100, 000 *28H*20% 560
—JIEt ==cldl 50,000 %122 600
OJIEt AtR2eld] 10,000 R *28 %« 122 3,360
02 2229 57,540 41,700 15,840
OZNES RERS 120,000 % 12 1,440
oOFsle=2 2,880
— LAt 70,0002 20Hx 128 1,680
—=U&st 100,000 % 1CHx 1224 1,200
o&EJIe=2 3,000,000 %122 36,000
ORdes AR 10,0002 *6CH* 122 720
OfIges AIBZE 20,0002 *2CH* 122 480
OYLR HEFPC 3|8 AIR2
15,0004+ 122 180
OFlo|2 EBE3RC AR
60,000 *x220H+ 128 15,840
202 Ot 110,880 91,080 19,800
NENCED 110,880 91,080 19,800
O2LH04BI 20,0002 +28%H x 122U+ 128 80,640
O2l0ib| 120,000 %28 x92 30,240
203 2| 10,500 9,340 1,160
01 J| 22 ARSI 3,300 3,300 0
OB AIR2E J|H2HARETH|
3,300,0002* 1% 3,300
02 HRAIIAIA LRI 2,400 1,840 560
OFIHIARETH| 80,0002 %30 2,400
04 BA2AARETIH| 4,800 4,200 600
ORMEILRFA| 400,0002*12& 4,800
204 Z 24| 7,800 7,200 600
01 ZHZ AR5 AH| 7,800 7,200 600
O I AR AY| 7,800
— OIS AR 2 A 400,00094 1+ 122 4,800
—H22(53) 100,000 2% * 122 2,400
—H222(63) 50,00021% 12 * 122 600




